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R2 = 4 J r2 = 3 J m1 = 6 J m2 = 10 J m3 = 12 J
m4 = 10 J S = 114 K

234353 678 9L 9 M@NO><AP Q PD APDP

G
S-

α

F H

I

R1 = 4 J r1 = 3 J R2 = 4 J r2 = 2 J m1 = 5 J m2 = 13 J
m3 = 10 J m4 = 12 J S = 80 J cosα = 0,6 K
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R2 = 3 J r2 = 2 J m1 = 4 J m2 = 13 J m3 = 6 J
m4 = 10 J S = 99 J α = π/3 J β = π/3 K
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R2 = 5 J r2 = 3 J m1 = 12 J m2 = 8 J m3 = 26 J
m4 = 12 J S = 135 K
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R1 = 3 J r1 = 2 J R2 = 3 J r2 = 2 J m1 = 4 J m2 = 10 J
m3 = 9 J m4 = 10 J S = 66 J α = π/3 K
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R2 = 4 J r2 = 2 J R3 = 4 J r3 = 2 J m1 = 4 J m2 = 15 J
m3 = 13 J m4 = 12 J S = 88 J α = π/3 K
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R1 = 3 J r1 = 2 J R2 = 4 J r2 = 3 J R3 = 5 J r3 = 3 J
m1 = 25 J m2 = 13 J m3 = 15 J m4 = 10 J S = 126 J
cosα = 0,6 K
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R2 = 4 J r2 = 2 J m1 = 10 J m2 = 2 J m3 = 24 J
m4 = 15 J S = 78 K
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R2 = 3 J r2 = 2 J m1 = 4 J m2 = 10 J m3 = 10 J
m4 = 13 J S = 74 K
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R2 = 4 J r2 = 3 J R3 = 5 J r3 = 3 J m1 = 40 J m2 = 13 J
m3 = 12 J m4 = 13 J S = 156 J α = π/3 K
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R2 = 5 J r2 = 3 J m1 = 6 J m2 = 15 J m3 = 12 J
m4 = 15 J S = 192 K
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R1 = 4 J r1 = 3 J R2 = 4 J r2 = 3 J m1 = 2 J m2 = 10 J
m3 = 10 J m4 = 13 J S = 70 J α = π/3 J cos β = 0,8 K
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